BSAA

How to use Punnet Squares:  TEACHER VERSION

First off explain the difference between genotype and phenotype. 


Genotype – the genetic make up that is only affected by the genes that animal has and not the environment that the animal is raised in. 


Phenotype – is the physical appearance of those genes. Because of the genes and the environmental factor the genes are there fore expressed in the physical appearance. 

Explain the difference between mono-hybrid and Di-hybrid crosses.


Dominant trait that has only one set of genes that controls the geneotype for the animal …there for an example would be Bb – (Black cattle)


A co-dominant trait that requires multiple genes to actually be expressed in the physical sense. BbLl – (Black long hair)

Explain the difference between dominant and recessive: 


Dominant completely masks the appearance of the recessive trait. The recessive trait can only be exhibited if both recessive traits are present in the individuals genes. 

Start off: 


1. List the phenotype of the individual animals



Male ____Black Male___________________



Female __Black Female___________________


2. List the genotype of the individual animals 



Male ___Bb______heterzygous_



Female __BB_____homozygous_


3. Identify which genes are dominant and recessive:



Dominant ___B___



Recessive ___b___


4. Place the male genotype on the top – label as Male


5. Place the female genotype along the side – label as Female





6. Bring the male first letter down 



and the first female letter across


7. Repeat for each box.


8. Each box represents a 25% chance that the offspring will have that genotype 

and corresponding phenotype.


9.  List out the % that will be found …. 


50% BB – Homozygous Black


50% Bb – Heterzygous Black 
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